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Objective: Write a quadratic function in vertex form from a graph

Concept

Steps to Write a Quadratic Function in Vertex Form

1. Identify the vertex, (/4,k).

2. Substitute (A, k)into vertex form: f'(x)=a(x— h): +k

3. Identify another point on the function, (x, ).

4. Substitute (x, y)into vertex form and solve for a: f(x)=a (x — h)z +k

5. Write the final function with the values of a, 4, and £.
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Objective: Write a quadratic function in vertex form from a graph

Ex) Write the vertex form of the quadratic function represented by the graph
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Objective: Write a quadratic function in vertex form from a graph

Ex) Write the vertex form of the quadratic function represented by the graph.

L - |
£60)= GQ(X_ 1"\) + K (") | (0. 50)

(D verkx = (O, 51/\0; /4‘\
()

) // \\ 5

©, L= &(X‘ O>+ 50 ’ s (2, 18)

= NSZ 0
P = ax 50 / \

@ V\-QQA O\Y\O‘\"l’\{/ fhbi\f\t / : ‘ \
Foir\xl = (Q\ Wf}

2 —
$60)= ax + =20

@ tind a

- Yo + 50
—So ~— SO0
— 3= 4/01 & Binrsh  Uertkex torn

= —exeso)

Captured on Mon Nov 13 2017 12:55:38

Q*’?



Acc Math 2 Write Vertex Form From a Graph.gwb - Monday, November 13, 2017 - Page 4 of 6

Objective: Write a quadratic function in vertex form from a graph

Ex) A tennis ball is tossed upward from a balcony. The height of the ball above the

ground, in feet, at a time of ¢ seconds can be modeled by the function shown in

the graph. Find the vertex form of the function, h(t), that could be used to model
N\/

this situation. in
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Objective: Write a quadratic function in vertex form from a graph

Ex) Adrian is building a homemade skate ramp and wants to
model the shape as a parabola. He sketches out a cross section
shown below. Write the vertex form of the function, H(L), that
models the curve of the ramp.
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Objective: Write a quadratic function in vertex form from a graph

Closure

Matthew thinks he can use the

points (0,11) and (4,3) to write the (0. 1) I
vertex form of the quadratic | (x)/
function. Do you agree or disagree
with Matthew? Explain your
reasoning.

S

| disagree with Matthew because 5| (2.6)
neither of the points he wants to use
are the vertex of the parabola, and
the values of h and k in the vertex
form f(x) = a(x — h)? + k have to
be the coordinates of the vertex. 0 s }

(6.2)
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